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QUESTION 1

Whywould you use Rebuild over Recalc in an Active Form? 

A. When a conditional format on a report changes 

B. When metadata is added to the TM1 model that must be displayed on the row 

C. When data changes along the rows of a report 

D. When a leaf element is added to a consolidated element of a report 

Correct Answer: B 

 

QUESTION 2

A user has created a Sandbox based on a cube view. The user wants to have the Sandbox data savedas the base
information. 

What should the user do? 

A. Save the View but click File > Save As. 

B. Click the Save View button. 

C. Recalculate the data then click Save. 

D. Commit the data to the cube. 

Correct Answer: D 

 

QUESTION 3

You need to calculate thepossible outcome if prices are raised. However, the data in the IBM TM1 server should not be
overwritten. The IBM TM1 model contains many business rules and calculations but no scenario dimension, which is
what you want. 

How do you proceed? 

A. Use Sliceto Excel and change all values there. 

B. Create a named Sandbox and change all values there. 

C. Use Snapshot to Excel and change all values there. 

D. Create a named scenario and change all values there. 

Correct Answer: B 
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QUESTION 4

Which two functions have been optimized for the wide area network (WAN)? (Choose two.) 

A. SUBNM 

B. DBRW 

C. DBSW 

D. DBR 

Correct Answer: BC 

 

QUESTION 5

When should you use the DBR formula over the DBRW formula? 

A. When you only want users to read the data 

B. When a cell must be calculated prior to beingreferenced 

C. When referencing a SUBNM formula 

D. When using Active Forms 

Correct Answer: B 
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